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Show the structure of each alphabet (from A to DD) should be. (90%, 3points each).

OH
NO,
NOZ‘@‘NHN”Z’ Na,CrO H,SO,/heat
- E oLy 23y A I.Hg(oAc)leeOH,: B
I‘1+ HzSO¢ Z.NaBH4
PBr, MCPBA
4
Y
G /
C
Mpg/ether
' \




I
HsC Ci
3 N 1.NH,NH, o, HNO
AlCk . . 2.KOH/heat H;,SO;4
H,NOH/MH*
g et HNO; R
H,S0,
Vv
Zn(Hg)/HCl
NHi(ex)
Y
Bry/hv :
W = NaOMe U = 2 T KMnO,4 v LiAlH, ,
(CH;:COK lI—[Br
NaCN/THF
cC w———  AA
x
H;0" Mg/ether
1.CO, .
B e
Db 2.H;0"

Show the way from starting material to product. (10%)

OH OH
u!f[, //O H

- END

3.

+

Q




